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Assignment 

	
	Module 2: Lesson 3 ASSIGNMENT

This Module 2: Lesson 3 Assignment is worth 17 marks. The value of each assignment and each question is stated in the left margin.


	(17 marks)
	Lesson 3 Assignment: Solving Projectile Problems


	
	LAB 2.
	Do both balls have the same vertical (vy) component of velocity when they reach the x-axis? On the simulation, select “Rewind.” Select the “Play” button, and then pause it when the balls near the x-axis. Step through the motion by repeatedly pressing the “Step” button ([image: image1.jpg]


). Record the vertical velocity (vy) of each ball when it reaches the x-axis.


	(1 mark)
	
	a. vertical component of velocity (vy) when ball 1 reaches the x-axis



Answer:
	


	(1 mark)
	
	b. vertical component of velocity (vy) when ball 2 reaches the x-axis



Answer:

	


	
	LAB 3.
	Will a change in the horizontal velocity affect the vertical motion of ball 2? On the simulation, select “Rewind” ([image: image2.jpg]


). Increase the horizontal velocity of ball 2 to 20.0 m/s. Step through the motion by repeatedly pressing the “Step” button ([image: image3.jpg]


). Again, record the vertical velocity (vy) of each ball when it reaches the x-axis.


	(1 mark)
	
	a. vertical component of velocity (vy) when ball 1 reaches the x-axis



Answer:

	


	(1 mark)
	
	b. vertical component of velocity (vy) when ball 2 reaches the x-axis



Answer:

	


	(2 marks)
	
	c. Did the vertical motion of ball 2 change? Explain why or why not.



Answer:

	


	(2 marks)
	TR 1.
	A ball is dropped from a vertical height of 45.0 m. How long will it be in the air? Show your calculations. Verify your answer using the simulation.



Answer:

	


	(3 marks)
	TR 2.
	A ball is launched with a horizontal velocity of 10.0 m/s from a 20.0-m cliff. How long will it be in the air? How far will it land from the base of the cliff? Show your calculations. Verify your answer using the simulation.



Answer:

	


	(3 marks)
	TR 3.
	A ball is launched with a horizontal velocity of 14.0 m/s from a vertical height of 
25.0 m. How long will the ball be in the air? How far, horizontally, will the ball move before hitting the ground? Show your calculations. Verify your answer using the simulation.



Answer:

	


	(3 marks)
	TR 4.
	An arrow is fired horizontally from the top of a 50.0-m vertical cliff and lands 120 m away. At what speed was the arrow fired? Show your calculations. Verify your answer using the simulation.



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.



